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You have been called for the written test based on the online data furnished by you in the web application. If you have
wrongly entered in the web or you do not possess the required qualification as per our advertisement, your candidature

will be rejected.

2. olieT gler 7 et i 3ulRufa 7 & ot gio-Rac/siims W gEaRi S g
You should sign the hall ticket / photograph only in the presence of the Invigilator in the examination hall.

3. URA-UF 60 YAl ¥ JFA TRA-GRAR & T H g

The Question paper is in the form of Question Booklet with 60 questions.

4. 9T & ok & % TIT 37001 NTAIR Sccr-GRecrehr &1 Sreat|

A separate OMR answer sheet will be provided for answering the Questions.

5. I oW FW A Al yea-qReadr Aot @iz (wdyayds), e 3o gieqeE )
fAfése rur F foeen anfzu)

Question booklet series code (A/BICIDIE) printed on the right hand top corner should be written in the OMR
answer sheet in the place provided.
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G- fETRT 3 T A T eI Tl T |

Enter your Name and Roll Number correctly in the question booklet.

IR ST # @ SRRt e T & do T 9 ¥ @ A
BlYl

All entries in the OMR answer sheet should be with blue/black ball point pen only.
qa%gﬁu&ﬁﬁmaxsﬂmw,ﬁ‘@?rq{‘mmm P & WY aEgese ¥ A
B, et ¥ el T JEfGIY FT F Rl g

The written test will be of objective type based on the qualification prescribed for the post with four answers indicated, of
which only one will be unambigudusly correct.

m,&m—gﬁamﬁmma@aﬁé:w, /Tl TATEY & diel OIS Ul H NTANR
SeeR-qfeaT # eifer Hifarer Y 3ifhc FR FE Seck HI TLA HIAT 8

You have to select the right answer by marking the corresponding oval on the OMR answer sheet by blue/black ball
point pen as per the instructions given in the answer sheet.

T Yo & AT 3120 Sea el FIAT ST | el 3cai & TolT I1ENd 37eh ART T SIusT|
Multiple answers for a question will be regarded as wrong answer. No negative mark will be given to wrong answers.
e aliel TeaTel 2o 3 3iex SUEX., HIETOC, HAISe el qUl 3ed Fedcl el ST,
Te- Q. He T Aot 1 HeAAT AT & |

Computers, calculators, mobile phones and other electronic gadgets, text books. notes etc., will not be allowed inside
the written test hall.

e quf 21t OX. ST Seal-Rae B SO & St fireet § O18 AN AT HATHAR Jeal-
whi s .

On_completion of the test, tear the OMR answer sheet at the perforation mark at the top and hand over the

original OMR answer sheet to the invigilator and retain the duplicate copy with you.

sreet-qfeaT 3l 3 arE T FH ¢

The question booklet can be retained by the candidate.

qlieT & YuE € & SN sreardEt A odeT gia sisa # A T ol

Candidates are not permitted to leave the examination hall during the first hour of the examination.

TR B R i TUaHeeEH-s e F fav & ffea aler wes
ST Bl

The written test is conducted only to shortlist/screen-in the candidates for interview.
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T AT ) (FAFATAAA)/ Technician B (Electrician)

oIfFd IUTeh FUR F T HFATAT H ardar il ——————— F w9 & 3fPenag AT Srar §1
The capacity of a capacitor used in power factor correction is expressed in terms of

(a) KVA (b) KW (¢ KWH (d) KVAR
100v & et AT 1T T 4 uF R F gevarer aRedd ———— T

The change in a 4 pF capacitor charged to 100v will be

(a) 4pc (b) 25pc (c) 100pc (d) 400uc
IfE g7 fRdy TR & ————— Y QAT A § o 3Her IR I & e
The resistance of a wire will double, if we double its

(a) SF%cl/area ' (b)  d9HA/temperature

(c) <ieTS/length (d) HR/weight

g ‘@’ ¥ IFT TF FF N Holg AT ————
- Surface area of a cube with side ‘a’ is

(a) 6a’ (b) 6a () @ (d 3a°

UF HR-UA Ao oy FT FHY Wi ——— TART AT S g

Time constant for an R-L series circuit is given by

(a) R/L (b) L/R (¢ 1RL (d RL

v quiaar gfadeh ofgy & efed qois ——— &l

Power factor of a purely resistive circuit is

(a) Q(\Fm’zero (b)  THH/unity

(c) ugxTeHl/lagging (d) 3139/ leading
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10.

11.

12.

us T F 230 V, 1000 W A.C #r Aofr & AT S g1 230 V A 1 Ed
ExGINd
A heater is rated as 230 V, 1000 W A.C. the value 230 V refers to d
(a) Tr@T dleedi/peak voltage - (b)  r.m.s dleedr/voltage
(¢) 3Fa arecdr/average voltage (d)  drcaIfores areedi/instantaneous voltage
S 3mgfea agdt &, 9w & eriar gfderd
As the frequency increases, the capacitive reactance of the circuit
(a) ©edr g/decreases
(b) gdr gfincreases
(¢c) 3mRafda @ar g/remains same
(d) Ygor Soar § R gear §/first increases then decreases
0.01 Ay ———— &% =Y §1/0.01 ampere is the same as
(a) 10pA (b) 100pA (c) 1000pA (d 10000pnA
frifia weaer & ol JRa Fof F AT ——— T
Sum of the interior included angles in regular hexagon is
(a) 720° (b)) 360° (©) 480° (d) 120°
FAAE W T HROH A@er aRey # oR ———— ©
The current in an RLC series circuit at resonance is
(a) HaTf®®/maximum (b)  FgFaHA/minimum
(c) 3F=Ad/infinity (d) Y/ zero
To IR % ¥ v Pefafea & wiF-ar SR A 3R 82
Which of the following DC motors is suitable for high starting torque?
(a) qred Hed/shunt motor
(b) RFIREIHRT HIFIES AleY/commutative compound motor
(c) AT H/series motor
(d) IFI3S HAle/compound motor
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13.

14,

19

16.

17.

UF T & A deedr 230V & U AN 9 Wi dlecar 200V § @ atecar e

gl

The no load voltage of a generator is 230V and the rated load voltage is 200V, then the voltage

regulation is

@) 5% (b 10% © 15% d) 20%

TRt # TgFT TEEER dF —————— T&I R ¢

The transformer oil used in transformer provides

(a) U aUr 2fdctel/insulation & cooling
(b) et dAT T=Ig=t/cooling & lubrication
(¢) VUA JUT Tgal/insulation & lubrication

(@ VA, M qUT Figet/insulation, cooling & lubrication

AT deeal W g AT AT W F ATT 3 —————— H AT

The main purpose of performing open circuit test at rated voltage is to measure

(a) diaT &/copper loss -
(b) ISR wlrd/cure loss
(c) el &d/total loss

(d) et 9fcRI/insulation resistance

gelest Ref T ———— El/Buchholz relay is a
(a) drecdr Hddr f3arsd/voltage sensitive device
(b) | T aa?fr f3ars@/current sensitive device

(c) S{TE(I-%T Haor f3arsd/frequency sensitive device
(@) I afera f3a138/gas actuated device

TEHERT & —— # Sofreg fRar ST 81/ Transformers are rated in

(a) KVAR (b) KVA ) KV d) KW
5
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18.

19

20.

21.

22.

23.

24.

e e F aiE gfaly ——— gl @ifgu|

The internal resistance of an ammeter should be ”
(a) g &HA/very small (b) FATEIAF/medium
(c) 3Tdlhigh (d)  3Ad/infinity

Smwﬁmﬁamﬁﬁﬁwmo.s%waﬁﬁﬁ@wmw
T ——— g

In a two wattmeter method of measuring 3 phase power, power factor is 0.5, then one of the
wattmeter will read

(@ wi (b) YFTlzero () V2w @ wA3
& HSHT —— §1/One micron is
(a) 0.1 mm (b) 0.001 mm (c) 1mm (d 0.0l mm
erRar & Ao & T ggET g ———— ¢
The bridge used for the measurement of capacitance is
(a) THRIA ﬂ?;[lschering bridge (b) aATEIA @?:[/whetstone bridge
(c) d3eT WJ/wein bridge (d) & @ AdJ/hay’s bridge
RRTT Mt ———— & A g WIF giar g 1/Pirani gauge is used to measure
(a) 313 3T &re/very high pressure (b) §&d &H cld/very low pressure
(©) ET{ZID'JEB?ITI' gld/atmospheric pressure  (d) I gail/all of these
AR F T TUROTAIT 39T I SAeare Selied dreedl ————— ¢l
The most commonly used generator voltage in India is
(@ 11kv (b) 6.6kv ) 22kv @) 33kv
wadr $RE F Gue & U FuReEar wgEd 9ed ———— §
The material commonly used for insulation in HV cables is
(a) rd/lead (b)  FETST/paper
(c) T&3/rubber (d). A porcelain
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TH-eTEY AT & U A HRE ————— B &

The majority charge carriers in N- type semi conductors are

(@) T&ar/holes (b) Soecia/electrons
(c) gl/neutrons (d)  3MIsllions

ey JuTTel 3 ARRIcHS FSdE B mlIntroduction of negative feedback in a system
(a) TA®IOT FeIaT @fincreases distortion

(b) TURAcT FHH HLAT g/decreases the stability

(c) T9C UTQETT &l & Tl g/decreases the input impedance

(d) 3mm3cHcC FT T AT t/decreases the output

UF 9 ———— 1 TH g9 gl/A byte is a group of

(a) 2 Taci/bits (b) 4 Taci/bits

(c) 8 Taci/bits (@ 16 Tci/bits

UF 3HT FIE I — Y 31GTHAT ¢1/A decade counter requires

(a) 2 TFerawrardl/flipflops (b) 3 Tewardi/flipflops

(¢) 4 ToFerawardi/flipflops (d 10 Terqwregl/flipflops
WW%W(1+A+B+C)ﬁ“$mﬁWWWW%|
According to Boolean algebra (1+A+B+C) can be simplified as

(a) ~ A+B+C (b) ABC () 1+ABC @ 1

T U @ aredt ¥ ged TE BT T aTwd \ s(s - ) (s - b) (s - ¢) SIRTEAT ST &, &l
S— & TR I ‘
Area of a triangle having sides a, b and c is given by \ s(s - a) (s - b) (s - ¢) where S is equal to

(a) a+b+c (b axbxc () 1/3(a+b+c) (d 12(@@+b+c)
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31.

32.

33.

34.

35.

36.

37

T arsaRiier AAY f3arey §1/———— is a volatile memory device

(a) RAM (b) ROM (c) PROM {d)- EPROM: *
g I’ 10pF HOAT FF FAGR T & ST Sar & ar gel amiar v, gl
If four 10pF capacitors are connected in parallel, the net capacitance is

(a) 2.5uF (b) 40pF ()] 20uF (d) 1/40pF
faegd Fair # gfle ————— #1/The unit of electrical energy is
(a) dTC/watt (b) TRaT are/kilo watt

(c) T are 3r@Tkilo watt hour (d) STet/joule

100hmsé;9ﬂﬂﬂmﬁwqﬁwqrloovﬁmwwmm%lﬁw#
&TIIAET glaigrell qra] — gl

A voltage of 100V is applied to a circuit of resistance of 10ohms, the power dissipated by the
resistance will be

(a) 100 dTc/watts (b) 1000 k 9Tc/watts

() 500 dTc/watts (d) 1000 aTe/watts

urRd ‘@’ § Jad TF FHURE AT F SFFe/Area of a equilateral triangle with side ‘a’
(@) V3/4a® (b) 37247 (c)  V3/6a° (d) V32

S OEF HUR T SESH UR HE M @ 3R aBed o ¥ oA ot @

el S|
When collector base and emitter base junction get forward biased then the transistor is said to be
(a) Afshd/active _ (b)  Hcoc/saturated
(c) &c 3HTP/cut off (d) Hiqﬁc_q/unsaturated
UATeHH ToT:30T { I U Jatih — & ®T H F HT|
An amplifier with positive feedback will work as
(@) 9R@d®/an inverter (b)  arferF/an oscillator

(c) WTSFal-IRacdH/a cycloconverter (d) TIT9/a chipper
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38.

39.

40.

41.

42.

WOT a9 —— & A & #7 3= ST g1/Induction heating is also known as

(2) ORI drde/dielectric heating
(b) #ax ORI dT9eA/eddy current heating
(¢) 9T ATa/resistance heating

(d) ﬂ’ﬁﬁlﬂ' dlYe/magnetic heating

T HT 39T ————— & T fFAT ST §1/A diac is used to
(@) U T T TaATaeT Flel/trigger a triac

(b) CATh T feFIRacisT #¥a/commutate a triac

(c) TAH FI &THAT Fela/increase efficiency of a triac

(d) TATH FT TEIUT F=A/protect a triac

F T Alet yHs Jeary §1/Motor starters are essential for
(a) HIEIT T ca{oT FlaA/accelerating the motor
(b) FHIET FT YRS Fel/starting the motor
(c) FAM®F YRH URT ¥ ddei/avoiding excessive starting current

(d) wgST & STl &I Ahet/preventing fuse blowing

6 q.7, 8 WAL Tur 10 J.7 unat F FFT RRdr BT F aEET ———— ¢
Area of a triangle having side 6cm, 8cm and 10cm is
(a) .48 ¢m’. (b) 60 cm? (¢  30cm? (d) 24cm’
7of Rad &/ar T ——— TEmeR & fasaea w Aok a & fow g
All day efficiency is meant to judge the performance of a8 ————————— transformer
(a) TaaRoT/distribution (b)  3ifel/auto
(c) dral/power (d) aﬁé@@‘ltwo winding
9 1256ELE



43.

44,

45.

46.

47.

48.

49.

TH 0T A & h ———— & IS g

The torque of an induction motor is proportional to .
(@ UV (b) V () V? (d Vv

qrFgH Follel FTEROTAAT ———— HIEY 1 39ANT Hd gl

Vacuum cleaners generally us¢ ——————— motor

(a) Ufdse#/reluctance (b) 9SO /repulsion

() BIfed ¥Id/shaded pole (d) T3 /universal

T SATEHIT Hohd &M rms Fed 10 amperes ¢l FHH R oo —————. F

The rms value of a sinusoidal signal is 10 amperes. Its peak value is

(a 20A (b)y 14.14A (c) 100A d 7.07A

TF goo @1 aRTY 66 A B 3@ s = gem?

Circumference of a circle is 66 mm. Find its diameter
(a) 21 mm (b) 42 mm (c) 33mm (d) 11 mm

@ W 5 mH dur afgd 9T 10 A & god UF eI 8T Fwen H Wi ol
el

The energy stored inva magnetic field coil of self inductance 5 mH and carrying current 10 A is
(a) 0.0257 (b) 0251 {c): 258 d 25]

w fega AR, Fed Ry qur X gl Y Rege #ae aifd | 9od & #F
e Bl

An electric motor in which stator and rotor poles run with exactly the same speed is
(a) YROT HAeI/an induction motor

(b) TATA® HeT/universal motor

(c) BIfed 19 HIc/shaded pole motor

(d) W AU synchronous motor

Ifg sink=3/58 @ tanx ——— §/If sinx = 3/5, the value of tanx is
@) 34 () 473 © 2/5 @ 23
10 1256ELE



50.

51.

52.

]

54.

55.

x2-6x+8 = 0 & TFg & HeT —— &1/The value of x in x*-6x+8 = 0

(a) 4 (b) 2 (© -2 d @&(b) -
UF JATTAS TauE H UHAINRIR ——— giAT A1

In an operational amplifier CMRR, should be

(a) TYTHHT 3Td/as high as possible - (b) ?Jﬁ'a'/unity

(c) <Yed/zero : (d) TUTEHT TAF=A/as low as possible

F FR F & aBW § o 3fcama FE WA TdE TR A 00 HOT H GHIA Fedrel
R 4.8, S #T 35 T B, s05 & YA THUS H WG [HU SeErer Hel &7
gl

A car has two wipers, which does not overlap. Each wiper has a blade of length R cm, sweeping
through an angle of 6°. The total area cleared in each sweep of blade is:

(a) 2{(0/360)xMR® (b) 6/360xMNR> ©) 2{(0/360)x2MR} (d) 2{(6/360)x2MR*}

RefaRd & FlF-9 yatis i &AdT G99 FH 82

Which of the following amplifiers has the lowest efficiency?

(a) FTH Telass A (b) FmH H/class B
(c) SFellH Tsl/class AB (d) &g Hilclass C
R ?3?4’1’ # oftg emf———— 9T 3T Ear £1/The emf induced in a coil depends on

(a) 3k BRI T AE&AT/the number of its turns

(b) 3FF WY ST a0 iHAE F IRAcA/change of flux linked with it
© Hﬁﬁ'lg F afad= %T;T faIT 37T HI/time taken to change the flux
(d) U FeM/all of the above

mRﬁ.ﬁ.ﬁgﬁmqﬁéﬁzﬁgwm,aﬁme%aT,—J%I
The area of a sector of circle with radius R ¢m, if the angle is 0 is
(@) 6/360xMR? (b)  6/180xMR* ()  0/360xMR (d) 6/360x2MR
11 1256ELE



56.

o7,

58.

59,

60.

IMSSHIETEr Ush W &7 —— FI/IGBT is a type of

(a) WA/ transformer (b)  TifoTEcT/transistor

(c) UgF/insulator (d) GTOT FHfdcH/transmission cable

T i—Ts?ﬁ" U6 — Bl/Ateslacoilisa

(@) HUET grAPIFR/cascaded transformer

(b) ISR TIABIA coreless transformer

(c) 3=d m{j%ﬁ W ﬁﬂﬁ/high frequency resonant transformer

(d) TFT gfasTen grawia/low impedance transformer

1 #rex dleg qur 1 . A & VfAIA T (FEaTaT 2.7gm/cc) T K —— &
Weight of aluminum sheet (density 2.7gm/cc) of size 1 meter width and 1mm thickness is
(a) 27kg (b)y 2.7kg (c) 027kg (d 1lkg

TIHRE WS ——— & Tavg waled# &N GG #RaT B

HRC fuse provide best protection against

(a) Zflfl’ qi{qi/open circuits (b) =g gixa2ii/short circuits

(c) 3ITR/over load (d) 9T RI/reverse current

e aftgar & IRT aur afRa gRoa Fer: 6Q 7 8Q F I gardr gfarer
I '

The inductive and capacitive reactance of a circuit is 6Q and 8Q respectively. It’s effective
impedance is

(@ 14Q (b)) 10Q © 20 d 480
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